N & o & AF &2 H Ml A
20098 & =0l &k LB A
A ZH D
M 20| & X (&Y - SAIY/MHETE - DTS}
Sel: 24019 4 2 22X X = CLE-T
SN S(B) - NRAY - B2 O] &k o8 e =2
2 Ml 10,360,214 6,406,684 3,953,530
= 61,512
s 4,290,000
= 88,968
= 53,000
= 5,866,734
a0l A& NA(MY - SAIH/MHETE - DTG} 136,920 33,920 103,000
s 80,000
= 11,000
i 45,920
SI1g =4 & 224 AF = 136,920 33,920 103,000
s 80,000
& 11,000
= 45,920
NEZH 28, SEX 34,920 24,420 10,500
201 ZEH2IH] 5,000 0 5,000
01 At 2eld] 5,000 0 5,000
OJIgAEY E22 M 5,0002!*1,00004 5,000
202 OdHl 3,600 3,600 0
01 3UAHbI 3,600 3,600 0
OXNHAREL 7 0fY)
60,0003 x3E 20 3,600
301 Lptsazg 11,320 7,820 3,500
02 Hatsdsi=s 8,000 6,500 1,500
O« 227 T Hs2 X3
800, 000& 10 8,000
10 HAIAMHIEAZ 1,320 1,320 0
OSAIIEsE 28 MiOIU S4X 24
55,0003 x8H 33| 1,320
12 JIEI2 A3 2,000 0 2,000
O24IlY ¥ 2YIRN BE
200,000& *10H 2,000
307 glz2told 15,000 13,000 2,000
02 QltFAE=X 10,000 10,000 0
OiSERALS KA
2,000,000 =571 & & 10,000




SN D
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Gl 2512 R4
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
04 QIZISHAIE X 5,000 3,000 2,000
O2 21X SiSHMsUs (22RY S&
Al 10,000& »500H 5,000
HA4Y M= 2,000 5,000
= 1,000
= 1,000
201 gt 2,000 5,000
= 1,000
2 1,000
01 At 2,000 5,000
@) 2,000
2,000, 000& *14] 2,000
< 1,000
i 1,000
g # 100,000 0
s 80,000
= 10,000
= 10,000
307 ol 100,000 0
s 80,000
= 10,000
= 10,000
02 2AHAEX 100,000 0
OZESAHAEY 100,000
—NEIE n88x3 100,000, 000& * 14! 100,000
s 80,000
< 10,000
i 10,000
NAZH 243 ELINY/RALETRA) 3,440,400 1,872,340
= 61,512
i 3,378,888
2=x = 74,410 0
= 61,512
i 12,898
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H: NEGH 243 - SAIY/RALETRA)
o4 DESX =& (Stel-&3)
- _ _ PSEN=
SM-BH-H2A(FAH) - MIRAY - BES Ol & 'oﬂ/'\_FOH HusZ
NEFX=EAY 74,410 0 74,410
= 61,512
ey 12,898
301 Lur2aag 74,410 0 74,410
= 61,512
= 12,898
12 JIEIBEAZ 74,410 0 74,410
O=ZHIE XA 74,410
—NE=FM SE MY 64,492,000 * 14| 64,492
= 51,594
= 12,898
-0l MNHSdAISY 9,918,000& * 1Al 9,918
= 9,918
EXNSX A =& 330,400 426,600 296,200
ENSX AL F=H 30,400 26,600 3,800
201 LEt2dH| 5,000 5,000 0
01 AtS22ldl 5,000 5,000 0
OMHER & SE=2 500,000& *10& 5,000
202 OdHl 2,400 3,600 A 1,200
01 =UWodl 2,400 3,600 A 1,200
OEXNRX gd2F& 60,000& »2H x20 2,400
203 ERF=& Y| 3,000 3,000 0
03 AIMFZXARFXY] 3,000 3,000 0
OENRI.s8HA =4 3,000,000& 3,000
301 LetEa3 10,000 5,000 5,000
12 JIEt2A&= 10,000 5,000 5,000
OEXNSX CARBI ZIAS
10,000,000& * 1 Al 10,000
303 ZaAZ 10,000 10,000 0
01 Ea=z 10,000 10,000 0
OFEXNRI #2322 XIA3
10,000,000& = 1Al 10,000
sl MEME HOotdsta AHE 300,000 400,000 A 100,000
401 A&BIZ20HYI 300,000 400,000 A 100,000
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HH: XNABH LAY - SA01Y/

40
12
He
4m
-
30
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&Rl SNSRI ALY =8 CER:E
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
01 Al&HbI 300,000 400,000 A 100,000
OU=EME Meuysrat A
300,000,000 * 14 300,000
EXNSX JletxH 3,035,590 1,445,740 1,589,850
EXSX JIBtXHAIH 3,035,590 1,445,740 1,589,850
308 AXIEHXMSOIA 2,000,000 100,000 1,900,000
05 XXIEXM2tEE2 2,000,000 100,000 1,900,000
OSHEX0HY 50% SAHAE 2
2,000,000,000& * 120 & Xl 2,000,000
401 AlEHIZL 204 1,035,590 1,345,740 A 310,150
01 Al&H] 1,031,180 1,333,560 A302,380
O=2dg0t Hots& gz EXN0HY
100,000, 000& * 1Al 100,000
OFHUVMACT FH0IS TS
(=&0ts) 100,000,000 * 1A 100,000
Oote Hesa32HX FHOIE FUSJAANLY
(0l2012) 300,000,000 14! 300,000
OEXNRX 43t JIetxd S Al 531,180
—J|Bt XA B Al 250,000,000 *200 & A 500,000
— &L Al & H B 500,000,000& *3.39/100 16,950
—Z2E=EY 5 170,000 *80& X 13,600
— 488 )& 700,000,000& *9/10,000 630
03 Al&20iYI 4,410 12,180 NT,770
O JletdH| 700,000,000& *0.63/100 4,410
XN EH (M3 X /FAHEXH) 344,200 0 344,200
= 88,968
iy 255,232
ngsl &4 344,200 0 344,200
= 88,968
iy 255,232
SE2ZAY 243 344,200 0 344,200
= 88,968
iy 255,232
401 AIEHIZL 204 344,200 0 344,200
= 88,968
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SNBSS - HRAY - BHES oy e HIRZE2
401 AlEHIL =0 2 255,232
01 Al 342,000 0 342,000
OSARLHAIY 342,000
—Z322AY 34,0002 30 x252 #1224 306,000
= 83,968
2 217,082
—40 RE2 100,002 *30% * 122 36,000
03 A&l 2,200 0 2,200
OSADLH A 2,200
—~BT22AY DIEHZ | 2,200,0002 2,200
KOIZR QHEBH(Ate! - BATIQ/MAXE - DE5) 2,150,732 289,610 1,861,122
= 1,110,000
= 42,000
2 998, 732
NHad 5 x4 1,940,380 58,400 1,881,980
= 1,110,000
2 830,380
BAEZAEAIE e 10,200 58,400 £48,200
201 L2yl 9,000 4,800 4,200
01 AtR22lt] 3,600 4,800 A1,200
OAYANL B8 LB 242
1,200,002 13| 1,200
OBYESAZAY 22 HUX HH
8002 *3,00004 2,400
02 IS 5,400 0 5,400
OBYESAZAY BB (M|, 4+5)
450,000 * 122 5,400
307 2120l 1,200 3,600 A2,400
REIEIET RIS 1,200 3,600 22,400
OAZANE 29 1,200
—2EA 2 300, 0002 43| 1,200
HeHAIE B ALY 80, 180 0 80, 180
201 L2yl 7,200 0 7,200
02 ZZ=2Y| 7,200 0 7,200
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o9l INAR 5 XN (25l &2

_ _ ME o
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_FOH HunsZ

200,0002! * 122 2,400
ONT BEsZa ALE el
50,0002 *47H Al &t +122 2,400
OBUYEZAZAZES AEFH XY
2,400,00024 *14} 2,400
01 YN 1,980 0 1,980
10 SAAHIZAS 1,980 0 1,980
Ox0Is, 2LERY 2AE 89 1] S
a A 55,0002 122 *33] 1,980
307 eI2t0IH 71,000 0 71,000
02 SIAFHBE 31,000 0 31,000
OBSANZALAER YR 2ol
300,000, 00024 #5/ 100 15,000
OMAAIZ ST Hatx Ha 6,000
—NEAF(BY, o)
200, 0002 * 128 *2JH & 4,800
—Zo, 5UAIF(DHE, Ma)
50,0002 * 128 %204 £ 1,200
OBZM o AT BEO X2 10,000
—OHE, BYEZAEAIF  50,0002+2003 10,000
04 BIASABE 40,000 0 40,000
OTHHAIZ &r210] #A X2 40,000
—sSeEA 2,000,000% x23| #47H Al & 16,000
— A OIHIE BAHEY, ot9l)
1,000, 000! * 123] 2H Al & 24,000
HeHAIZ 25t 1,850,000 0 1,850,000
=) 1,110,000
2 740,000
401 AlEHI L2 1,850,000 0 1,850,000
= 1,110,000
2 740,000
01 AIZH] 1,843,364 0 1,843,364
OBS3HAL 1,843,364
—THEHAI R A& S THE
1,843,364, 00021 #14] 1,843,364
2 1,110,000
2 733,364
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M MOAM A (MY - SAINY/MHRE - DEF)

ool NoAA 2 X4

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
03 Al&=0H| 6,636 0 6,636
ORSEHA 6,636
—THEHAIR Al& & CH3
1,843,364, 0002 +0.35999/ 100 6,636
WHX I ZZ 130,668 137,510 £6,842
= 42,000
2 83,668
(IEPIRIESE-ES 11,580 10,190 1,390
201 Y2yl 9,180 10,190 A1,010
01 At2teld| 9,180 10,190 A1,010
ONUXI=S 222 XX
2002 %3, 50001 *3% 2,100
OXRE BZAA 8I| 2 1,5002 *4007H 600
ONRE BZAA NS
10,0002 ¥307H A #43] 1,200
OF=IIPIA HE A
33,0002 *1607H A +13] 5,280
202 OiHl 2,400 0 2,400
01 =Uhoib 2,400 0 2,400
OSAIA R X0
60,0002 x2% 202 2,400
WX SSAY =0 84,000 125,000 A41,000
= 42,000
2 42,000
402 2I2FXHEOIF 84,000 21,000 63,000
= 42,000
2 42,000
NEESEEES 84,000 21,000 63,000
OZHIE AL 84,000
YT = 2
4,200,000 %207+ 7 84,000
= 42,000
2 42,000
WX SSAY =0H 35,088 2,320 32,768
201 Y2yl 1,120 1,120 0
01 At 2el| 1,120 1,120 0
OEHZZ HRE AMSTY 1,120
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Sl OILIXI OHEN =3 (£ @8
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
—=&)) 120,000 %87 £ 960
~LUESS 40,0002 %404 2 160
01 LstBAZ 3,000 1,200 1,800
10 SAAHIZAS 3,000 1,200 1,800
OSADMA 23 243 300,000% * 103! 3,000
401 AlSHIL 2O 30,968 0 30,968
01 A&H] 30,968 0 30,968
OEHSATYAIL SXAY LHSAY 30,968
—BOLAHEIR 9 404
759,000, 0002 4,08/ 100 30,968
NOIHE ZHE2HMAY 67,920 73,680 A5,760
B IJPANE HEAY 67,920 73,680 A5,760
201 Lpr2 | 14,580 0 14,580
01 At 2el| 14,580 0 14,580
ORBIIZMETE +3X WAL N
A (QHF T 24| 48,6002 ¥3007H £ 14,580
402 QIR+ OIF 53,340 73,680 £20,340
01 PRINESE 53,340 73,680 220,340

O=RINIZLEEY =5k JHAAE A
( el

45) 15,420,000 14 15,420

O=e=HEZYE =5 A JHAAE o

Ared 37,920
—AEHA 168, 000! *90H £ 15,120
—EtOIH 24X 50,0002 #4564 £ 22,800
AHIR BABS L SIHOH 11,764 17,520 A5,756
EI10HE KT &2 10,864 7,280 3,584
101 QI2A4H| 4,464 3,480 984
10 JIZR2ZRSES 4,464 3,480 984
OS2It SYZHE ILIEQY 221Y|
31,0009 «22 +62 » 128 4,464
201 st 4,000 1,400 2,600
01 At/ 4,000 1,400 2,600

50,0002 100122 1,000
OsJtetd 28 dHX M 800& *2,0000H 1,600
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SEFNEEEEIETEY]
70,0002 %20% *13] 1,400
202 oft 2,400 2,400 0
01 =UHolb 2,400 2,400 0
OS2t & olfxI22l 20,0002 %23 602 2,400
IYHeH N2 900 10,240 £9,340
201 syl 900 9,400 8,500
RS 900 9,400 8,500
Ol BN B HE 10021 *1,0000H 100
oF ESIIE VU BIEN: 100, 0002 235 *43] 800
AJ|ES NHUSI (MY - ZLI|Y/MYTE - DEF) 3,718,322 3,458,700 259,622
2 3,100,000
2 618,322
NEEINE 2,450,000 2,400,000 50,000
2 2,400,000
2 50,000
Nesidl HATE o KAl 2325 260,000 360,000 £100,000
2 260,000
201 ey 89,000 160,000 AT1,000
2 89,000
01 A= 2ell 89,000 160,000 A71,000
O BSIHAL 89,000
—Xesasos 2YXY L AT
2| 7,000,0002!* 14! 7,000
2 7,000
—NBEAY SUHY ¥ SYBIIE Y
%) 7,000,0002! * 14! 7,000
2 7,000
— MM T JHA 15,000, 00024 +13] 15,000
2 15,000
~TE stE S0l 29 X
20,000,000 *34! 60,000
2 60,000
01 YBEH 121,000 100,000 21,000
2 121,000
TAEEEECT 20,000 20,000 0
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Chl: AIE ALY (9l &8

_ . rSJELe= ~
SN EB -GS - MBAY - BES 0 & 24 il b o ClimE=r
O ZS3lAHAY 20,000
—sASI 22 2 2HSY
1,000, 000& 20 20,000
s 20,000
10 BAIAHIENS 101,000 80,000 21,000
OZE3AH A 101,000
—ANGEMEs 2ENE & AIE N
kS| 38,000,000 14! 38,000
s 38,000
—AEEAMNY DLHY & 2ZEItal N
eS| 3,000,000& * 14! 3,000
Fas 3,000
~TME sSS0R2 29
10,000,000& *34 30,000
s 30,000
—Si=s0t 2= ¢ cdsl
10,000,000& *34! 30,000
[ 30,000
307 QIt0IA 50,000 0 50,000
s 50,000
05 CIZtREZ 50,000 0 50,000
OZE3AH A 50,000

— KNGS AOIH0 stz )8 29

50,000, 0008 14| 50,000
2 50,000

Nosal AZSLALY 1,540,000 1,380,000 160,000
= 1,540,000

206 THEH] 20,000 20,000 0
= 20,000

EET 20,000 20,000 0
ORSEIAAY 20,000

—HBHTY F27Y

20,000,0008! 14! 20,000
2 20,000

307 21201 N 90,000 30,000 60,000
2 90,000

04 BIABAEE 30,000 30,000 0
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SECEEELE 30,000
—oi{2] Y FAI AIAE O}
30,000,000 *15] 30,000
2 30,000
05 I2reIEr3 60,000 0 60,000
ORSsHAL 60,000
—MATIAAY HP5 2E
60,000,000 *14} 60,000
2 60,000
402 QI2AT0IH 1,430,000 970,000 460,000
= 1,430,000
N EEES 1,430,000 970,000 460,000
oRssal 1,430,000
— & THEHER) T A 31,000,0002 * 10ha 310,000
2 310,000
—Ma, O S REIIT L BIHAIL
270,000,0002 *14! 270,000
2 270,000
—MAEGYT A
80,000, 000! *5:5 Jt 400,000
2 400,000
—HBY M THHHE Si8t DIMEX X
2 100,000,0002! *14] 100,000
2 100,000
—Ara ALY BAS 9lst XIR(24,
=7) 200,000,0002! *14] 200,000
2 200,000
—oh, o SRS W EETY N
150,000,0002 *14] 150,000
2 150,000
SHOFALAL B A BHANY 650,000 660,000 10,000
= 600,000
2 50,000
201 er2g| 190,000 210,000 A20,000
= 190,000
01 At 22l 190,000 210,000 20,000
ORSEHAL 190,000
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
—ota, o BEES 50,000, 0002 24! 100,000
2 100,000
—ora, o EROBIY ALY
30,000, 00021 *34] 90,000
2 90,000
307 eI2t0IH 300,000 250,000 50,000
= 250,000
2 50,000
04 CIZFHBAEE 300,000 250,000 50,000
O 2SN AL 300,000
—ra, OIER fMgor Y A
300,000, 0002 * 14! 300,000
2 250,000
2 50,000
401 A&HILLHY 60,000 0 60,000
= 60,000
01 Aldt] 60,000 0 60,000
OB S 60,000
—ara EZHE AR 60,000, 0002 * 14! 60,000
2 60,000
402 QI2EXHOIF 100,000 100,000 0
= 100,000
01 PRI=EEx 100,000 100,000 0
OR S 100,000
—ADI HEZ2OY N L 2
100,000,002 * 14! 100,000
2 100,000
AJIES NAUBEI| A 1,268,322 1,058,700 209,622
= 700,000
2 568,322
AJ|1ES NeeSI| =3 944,872 850,000 %,872
= 700,000
2 244,872
101 Q12| 6,000 0 6,000
=) 6,000
B EENEEES 6,000 0 6,000
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A H 9 FAY - BES &5 Ofl & 04 ree
OZE3AH A 6,000
—AJIESXS II2YED| URY(EH)
31,0003 x 1«15 128 5,580
s 5,580
—4EE= 420,000& 420
P 420
201 Lt 25,000 0 25,000
s 25,000
01 AtR2teldl 25,000 0 25,000
O@E3AHAE 25,000
—JIESXNGLS)| MI=EEE ME
20,000,000& » 14! 20,000
s 20,000
— A ESNAS)| YRR
5,000,000& * 14! 5,000
s 5,000
301 LerEA= 12,000 0 12,000
s 12,000
10 BAIAHIENS 12,000 0 12,000
O SSAHAY 12,000
—HYSE FlE HFX W0
60,000% 80 23| 9,600
P 9,600
—tscldun=s, fF3s 4L B3
60,0003 »2H »202] 2,400
P 2,400
401 |&HI 2RO 246,872 780,000 A533,128
s 157,000
= 89,872
01 Al&HI 245,000 780,000 /535,000
O SIAHAY 245,000
—33s &4 gl28d 35,000,000& * 14! 35,000
P 35,000
—=3A Ea(MD-EY)
20,000,000& » 14! 20,000
s 20,000
—=2d NEsgsd £X
20,000,000& *27 2 40,000
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aJlE2 Aot
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_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
s 27,000
i 13,000
—0t232 HOYAL (MR, sHEA) 4
Xl 50,000, 000% *14] 50,000
s 25,000
i 25,000
—L20 EH 2 S2HE
100,000, 0003 * 14! 100,000
s 50,000
i 50,000
03 AIZ=C0HHI 1,872 0 1,872
O@E3AHAL 1,872
—Z2Jd NEgsd £
40,000,000 x1.08/100 432
—0tS3/2 HOAA (MY, StEA)M
Xl 50,000, 000& *1.08/100 540
—LEDY @ YL RN
100,000, 000% *0.9/100 900
402 BIZ2HX =0l 655,000 70,000 585,000
s 500,000
= 155,000
01 QtR=8x 655,000 70,000 585,000
ORSSAHAY 655,000
—EHSF 2 2™ A (30kw) A X
310,000,000 310,000
s 155,000
= 155,000
—5ol=2g G3E A MUHEHXX4
30,000,000& 14! 30,000
s 30,000
—=S2X X E=4(1ha) 20,000,000& * 14! 20,000
s 20,000
~SIBESR A AY
120,000,000& 1= 120,000
s 120,000
—EZUE M 1,000,000& x10= 10,000
s 10,000
—0t= 7 SEMH H0IAS HE
50,000,000& x2& 100,000
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2 100,000
~HEYE =9 25,000,000 %27 A 50,000
2 50,000
~HYABA FSAE &3
10,000, 00024 *17H £ 10,000
2 10,000
~HEQ2 Ha 1,000, 000252 5,000
2 5,000
Foloy 23 DS 303,450 208,700 9,750
201 Yeregy) 53,700 1,500 52,200
01 ARl 3,700 1,500 2,200
OAJIES NHBSI| DREA
100,0002 10| 1,000
OF &JIZ2 0I2JIRI AASY 4
70,0002 +5% *23] 700
oalER SI| =3 ®AIS HIB
2,000,002 13| 2,000
03 BASY 50,000 0 50,000
oallEe TESTREDIIVE BT
% 50,000, 0002! 50,000
202 oft 3,600 2,400 1,200
01 =UHolb 3,600 2,400 1,200
OAJIZES XHPEST| s &4
60, 00021 22§ +302 3,600
01 YA 6,150 4,800 1,350
10 BAAHIZAS 4,950 4,800 150
OADIZES XNRS)| FOIABAS DS
55,0002 *90% 4,950
12 BN 1,200 0 1,200
OF &IIZ2 012011 A4 1,200
—zea 500,0002 174 0t 2 500
-2 % 300, 00024+ 104 0HS 300
—5 200, 00024 *20H 042 400
402 QI2ETHZ0] 240,000 200,000 40,000
01 PRAESE 240,000 200,000 40,000
OF adIZ 20| B
30,000,002 +874 Ot 2 240,000
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aJIE2 NFSI| =8 20,000 0 20,000

06 == 5,000 0 5,000
01 &¢= 5,000 0 5,000
Ot=XNddENH EH= 5,000,000 5,000
308 XXIESMSOIH 15,000 0 15,000
05 XNXHHMARES 15,000 0 15,000
ONIBYZAIFHS Al 2RES
2,000,000& 2,000
OJOFESIR NHLE AN, B4+80/3
13,000,000& 13,000
#HY 2 ZUI(Z M) (IIEH/IIE 69,640 68,160 1,480
I 2 4,200 4,200 0
o124l 4,200 4,200 0
203 HRF&H 4,200 4,200 0
04 RAN2SELR2F2I 4,200 4,200 0
OFANSEYRFEHI 350,000& 123 4,200
Jl=2&4l 65,440 63,960 1,480
Jl=&dl 65,440 63,960 1,480
201 LEHRHH| 36,640 39,000 A2,360
01 AtR2&cldl 36,640 39,000 N2,360
FHNEN 2,000,000 16H 32,000
= &l 2,240
—E204l 7,000& 16 20 2,240
OSAESA S 200,000& x12& 2,400
202 O4H| 28,800 24,960 3,840
01 =LHAHI 28,800 24,960 3,840
O& oI 100,000& 16 128 19,200
O=2 0] 60,000& 16 10 9,600
HeesS(ZHD) (MY - SAIG/MERE - DS 3 500,000 683,954 A 183,954
LHEHHXI & 500,000 683,954 A 183,954
WRHHXIZ 500,000 683,954 A 183,954
701 JIEIHNMES 500,000 683,954 A 183,954
01 JIEtSIHNMEZ 500,000 683,954 AN 183,954
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